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s foAs =
FEAENGRE
TH4 | R6FRERFEE PRIXEET (209) 4 1THE
TEHX4y « Tfd - FER B Az W B & #A i il A BN
JE O R 2 1 108, 512, 910
EHET = 1 211, 427
AR LT Y 1 211,427 | &I (BEER) RE 1 30 m3
2. bmATH ;
N N 7 m3
2. 5mPL 4. OmARTi ;
R ESER 30 m3
b G- ERIRY L&)
FEOA (=27) 30 m3
+ 50, 000m3AT ;
EE T Y 1 6, 062, 385
71 = 1 6, 062, 385 | Tvi—LATEE (7vh-) 1 =
"L (7h-) 21 m

(WY& 4= kbt 1)
Mg 135mm ;

HIFL (778-) 7 m
(WY& 4= kbt 1)
Mg 146mm ;

HIFL (7va-) 22 m
(Cues))
Mg 135mm ;

HIFL (778-) 9 m
(Cues))
Mg 146mm ;

HIFL (7va-) 0.1 m
(EHELY )
Mg 146mm ;

TUR=ERAA N L RELSE - F A - B - A - SRR AL (T-) 4 %N
VAL VISR VAR S RVREC PN 4 VN
VANUINEUN 3 m3
N DA O A 1 =
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s foAs =
FEAENGRE
TH4 | R6FRERFEE PRIXEET (209) 4 1THE
TEHX4y « Tfd - FER B Az ¥ = & #A i il N BN
BTN - 1 m3
T h—15 4 & T
WiERE T = 1 98, 497, 944
BESRIT T Y 1 98,497, 944 | S 6 A
PR (B 1200mm S E S (BiRE) 17.5
m ;
HRE BT 2 N
PR (BT 1500mm S E & (BiRE) 21.5
m ;
HRE BT 7 N
A (BTAR) 318.5mm S E S (BiE) 10m
HRE BT 1 N
A (FTAR) 318.5mm S E S BiE) 1lm
KEEH 1 =
BLI5HUE (BRE pT) 69. 36 t
SN AL T =Y 1 3, 223, 900
IEALBREE T Y 1 3,223,900 |InAafEzE 1 =
HEYE T Y 1 -51,974
s EEE L T Y 1 6,492 |27 -MEEYHUE L 0.8 m3
EAEAETEY) FEMOE T ;
TE R L T =Y 1 -58, 466 | BE 0.8 m3
20—k (BERR)
RISy 0.8 m3
20—k (BERR)
L5y 2 t
AL ;
RE% T = 1 569, 228
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s foAs =
FEAENGRE
TH4 | R6FRERFEE PRIXEET (209) 4 1THE
TEHX4y « Tfd - FER B Az W B & #A i il N BN
TEHERKT =Y 1 265, 696 | HmHI 1 =
1A EROEASN ONBURR) /NHASE (REHELIAY)
FERIR 1 F2V
22X1,524 X3, 048 (mm) FRE - ;
+m 5 1 =X
(KAt 9 FRE)
FLE 6 110 X B108cm ;
+m 5 1 =X
(RAEI+ D 5 HE)
FLE 6 110 X B108cm ;
EHEWRAT T Y 1 22,732 | K% ATV S 1 =
RIEB (4547)  100m2A YA T B H A 22 0D A 1F %
AEEHE T = 1 280, 800 I@aﬁ%%ﬂ%m 1 =
[ERAE Xy = 1 108, 512, 910
HiE 2 2 1 35, 300, 260
BISTIGE: = 1 23, 390, 260
SR oV 1 22,337,260 | B HFRHEIR S AT 5 2 1 =«
IR TR 1 =
BGRESCGES (5 1) = 1 1, 053, 000
B (FEHL) = 1 11,910, 000
T = 1 143, 813, 170
Bl gy 2 1 48, 529, 000
T =5l = 1 221, 229, 405
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R PERE
THE4 | ROFGEXEEIR PRHXHET (£09) S THE
THEXSy - THE - FE5 H7 & & # i Gl 2 N
— e PR A E20 1 33, 680, 595
N E20 1 254, 910, 000
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W\ AR AT 79 #3 4h Se

TH4 | R6FRERFEE PRIXEET (209) 4 1THE

TEHX4y « Tfd - FER B Az £ & F #m il N BN
JE O R = 16,111,079
EHET = 1,295, 723
R T Y 1,295,723 | &R+ 350 m3
4. omPh Lk
R ESER 390 m3
b G- ERIRY L&)
4B 350 m3
BEK LT =Y 3, 526, 200
R T =Y 3,526,200 |HEEKA 135 m3
FEfaAFo-N7 ny) (D-12) ;
Ak T Y 1, 998, 029
&S A T Y 383,040 |#&mE /K 160 m2
WL K
TAT 7 M A T = 1,614,989 |Fga&kayy)—} 19 m3
24-12-25(20) (F47) ;
)@ (§E - BEE) 138 m2
FAEERIEEY A2y (13) 422 40mm 3. OmiZ ;
=8 (§E - ) 138 m2
FAEERIEEY Ay (13) 422 40mm 3. OmiZ ;
=@ (HHEE) 48 m2
HAEBRIET A2 (13) HiEE 30mm 1. 4mPl
TR & T = 1, 343, 823
B EMRER E L = 1,343,823 | IsHMER & 20 m3
24-12-25(20) (FH7) ;
FEgeAfs 1T = 3, 080, 694
(== Y 379, 660 | KR D 1 2V
+4) ;
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Vol =
FER N E
TH4 | R6FEBEXKERIE HRMXERET (209) 4 TH
TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! iR
HEL 1 2V
T wb AT 1 2V
W CHBE- IR L5
A5k 1 X
TS T =X 1 942,220 |fERMEED ZDbL 10 m3
e 10 m3
/) -hik Bk
By 10 m3
290 -hik BRh)
L I UNC A Ay = 1 1,758,814 |av/)-} 23 m3
24-12-25(20) (&¥F) ;
T ! A
—RE
i53i0) 3.51 t
SD345 D16~25 ;
s ALER T = 1 3,223, 900
I AALVERESE T X 1 3,223,900 |JGAafE 1 X
HEE L = 1 743, 680
SR L = 1 11,571 | Bt (0 =1 V- 1 A
e LT it 1 458,654 | 37)-MHEXE YU L 21 m3
ERApIEEY) FAE T ;
EhAERR G 1 X
TA77VMERZERR 15emPA T 5
EhAERR G 1 X
TAT7 VI EERR 15emZ #8 2. 30emPL T ;
EhAE AR AR 34 m2
TAT7VMEHZERR AH2ERRIE 14cm
EhAE AR AR 120 m2
TA77 VMRS BEERE 17 cm
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== /oA =
FEAENRE
TH4 | R6FRERFEE PRIXEET (209) 4 1THE
TEHX4y « Tfd - FER B Az £ & #A i il A R
TE LB T =Y 273,455 | BoE 21 m3
/) -hk (BRAD)
IR 5 m3
TAT 7 bk (HRIB)
Stk 21 m3
TA7 7 bk (HE)
RISy 21 m3
/) -hk (BRAD)
RISy 5 m3
TAT 7 bk (HRIB)
RISy 21 m3
TAT 7Nk (HE) ;
L5y 0. t
ALTH3 ;
A Y 899, 030
Ak T Y 297,830 | {KRPHZEMT 29 m
(s FtE)
A ERE E T = 601,200 | A3 iEFEEE i E 1 =
[ERAE Xy = 16,111, 079
HiE = 4,376, 156
Hom it = 1,827, 156
HeffrE sy = 1,602, 156 |$kipiEa Ly 1 F2V
BGRESCGES (5 1) = 225, 000
B (FEHL) = 2, 549, 000
T = 20, 487, 235
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